
Exploded diagram and spare parts list   Buffalo Bain Marie L371 S007 S047 L310 S077 

2 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa-service.co.uk 
 

For machines from 2009 onward; Batch No. 08N2505 or later (PO No. 95333 or later) 

 

 

 

 



Exploded diagram and spare parts list   Buffalo Bain Marie L371 S007 S047 L310 S077 

3 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa-service.co.uk 
 

Machine Explode  Code Description 

Single Bain Marie L371-B S007-B S047-B L310-B S077-B 1 AC877 Water Pan 

Single Bain Marie L371-B S007-B S047-B L310-B S077-B 2  Screw M5 x 8 

Single Bain Marie L371-B S007-B S047-B L310-B S077-B 3 AC878 Heating Element 

Single Bain Marie L371-B S007-B S047-B L310-B S077-B 4 AC880 Heating Element Press Board 

Single Bain Marie L371-B S007-B S047-B L310-B S077-B 5 AC894 Fibreglass 

Single Bain Marie L371-B S007-B S047-B L310-B S077-B 6 AC895 Heating Element Protector 

Single Bain Marie L371-B S007-B S047-B L310-B S077-B 7  M5 Washer 

Single Bain Marie L371-B S007-B S047-B L310-B S077-B 8  Screw M5 x 55 

Single Bain Marie L371-B S007-B S047-B L310-B S077-B 9  M5 Washer 

Single Bain Marie L371-B S007-B S047-B L310-B S077-B 10  Nut 

Single Bain Marie L371-B S007-B S047-B L310-B S077-B 11  Frame 

Single Bain Marie L371-B S007-B S047-B L310-B S077-B 12 AC882 Strain Relief 

Single Bain Marie L371-B S007-B S047-B L310-B S077-B 13  Power Cord 

Single Bain Marie L371-B S007-B S047-B L310-B S077-B 14  Base panel 

Single Bain Marie L371-B S007-B S047-B L310-B S077-B 15  Rubber foot 

Single Bain Marie L371-B S007-B S047-B L310-B S077-B 16  M4 Washer 

Single Bain Marie L371-B S007-B S047-B L310-B S077-B 17  Screw M4 x 13 

Single Bain Marie L371-B S007-B S047-B L310-B S077-B 18 AC885 Thermostat 

Single Bain Marie L371-B S007-B S047-B L310-B S077-B 19 AC886 Pilot Lamp 

Single Bain Marie L371-B S007-B S047-B L310-B S077-B 20 AC893 Temperature Adjuster Dial 

Single Bain Marie L371-B S007-B S047-B L310-B S077-B 21  Power Switch 

Single Bain Marie S047-B L310-B 22 AC889 Tap 

Single Bain Marie L371-B S007-B S047-B L310-B S077-B 23 AC894 Reset button 

Single Bain Marie S047-B L310-B 24 AC895 Water Drain Tube 

Single Bain Marie L371-B S007-B S047-B L310-B S077-B 25 AC891 Temperature Protector Thermostat 

Single Bain Marie S047-B L310-B 26 AC892 Drain connector plug 

Single Bain Marie S077-B 

Not Shown 
 

CD544 Round Pot 
Single Bain Marie S077-B CD545 Round Pot Lid 

Single Bain Marie S077-B CD546 Pot Holder 

 

  


